
 

Q A DKA pt is aboutto be intimated He is

breathing at 30 breathsper
minute as part of

his respiratory compensation for his Acidosis
as you prepare

him for intubation you
know

that you need to
set the respiratory rate

on the

ventilator to a high level to allow him
to

continue to do his respiratory compensation

he is sobig ideal body weight
show the math

as to how you would
estimate what the

RR should be set at

Ant
a normally we need to have

datros

of 60mYay min to maintain
EuctpNia Cpcg yo

e s in ie we want to keep Pt's pcoz at

to prevent his pus fromrising too much in the

face of acidosis we win need to move

in myhy min
however once we intubate him we will

need to Account for DeadSpace remits
in from

the extra verreiLAloR t vBinG
i we will need to move 240mL by min

So in one minor
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try
so in one minute
I need to move 19,20mL of air

if inch breath is 640mL
then I need to breathe 31 twins
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